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A laboratory supply company produces graduated T th e xy-plane, the graph of @
cylinders, each with an internal rqdlus of 2 inches §
and an internal height between 7.75 inches and intersects the graph of y {Bat the points (0,0) and
8 inches. What is one possible volume, rounded to (a,2). What is the value Of 0 ?
the nearest cubic inch, of a graduated cylinder 2 y(-9) =5

3(-5) -
3 {5)?/ /‘1{5): gb/"'——

produced by this company? 7(‘ -5

Greater than or equal to 97
and Iess than or equal to 101

7«9\Less than or equal to 97
and greater than or equal to 101

5
C)7
9

than or equal to 70
ngAdess than or equal to 90

Less than or equal to 70
and greater than or equal to 80
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4 1
The line with the equation gx + gy =1 is graphed

in the xy-plane. What is the x-coordinate of the

=0
x-in\t%rcept of the line?

@'25 %Z*N:I
3:0

C)5
D)9

- Masses {kilograms)

Andrew and Mana each collected six rocks, and the
masses of the rocks are shown in the table above.

The mean of the masses of the rocks Maria collected

is 0.1 kilogram greater than the mean of the masses
of the rocks Andrew collected. What is the value

of x ¢ /{@'Ja : lqndye,‘, L o-1
A);6 o313 A4S TR Re2E Y e
3 >
)48 ¢ 6
D) 8
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Z = Y¥o
X =3

Jeremy deposited( X)dollars in his investment
account on January 1, 2001. The amount of
money in the account doubled each year until

Jeremy had 480 dollars in his investment account on
January 1, 2005. What is the value of x ¢

A) 15 G=%)  zt
30 N Go %o 2 | X 2
C)60 22| Iz 2003
D) 120 | a24o 200\
Yo 2 POS

A school district is forming a committee to discuss
plans for the construction of a new high school. Of
those invited to join the committee, 15% are parents
of students, 45% are teachers from the current high

school,25% are school and district administrators;
individuals are students. How

and the remaining(®)
rnan teachers were invited to join the

commuittee than school and district administrators?
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B Ws - 25
C)8 7 .
D) 10 § /5 = <@
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Questions 1 and 2 refer to the following
information.

For a point sourcc. sound wavcs propagatc in

concentric spheres. thercfore the intensity of

thc sound at a pon distant D from the
P

sourcc 18 given by: [ =

I1s the sound intensity

P is thec powecr of the point sourcc

D is the distance between the source and the
point A where the intensity 18 to be found

1. Isolatc D.
A

L il
XD = 7l oyl D
_E E T
(B)D' =3 | &LIJ -
). 7 P >
& D= () Dy’flﬁ»
T £
p@ - -2 «
271
2. If thc power of the sourcc doubles
(P’=2P). and thc distancc between the
sourcc and pomnt A also doublcs
(D’=2D). thc sound intcnsity
bccomes I’. What 1s the rclationship
between I” and 1? P
A 'Y I=— .
B. =41 e D
CoIr=1/2
D. ’'=1/4 2 - 2
— Y
(2)°

3.

Jg =
\
4.
.
i
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The wecekly salary S of Samantha 18
given by S = 7¥h*d4 75 where h 1s the
number of hours shc works cvery day
and d is the numbcer of working days
cach wecck. If Samantha is to be
promotcd with a salary increasc,
which of the following tcrms must
change?

@) 7

B. h
C. d

D. Nonc of the above

In the xy-planc, thc cquation LDQf the
linc (d) passing through A(-1.4) and

perpendicular to line 3x-2y = S is:

=2x+>  Sy=ax+2
¥ 2X+ - Ly =
3 5
— —— = 3 2
5 x — R —
2 +2 m=2 ——
e & 14 9 =1y + L4
— _—x+— 2y T
. . - 2 A /‘13
2 10 po 2t B
— &y — Z 3
(D y=-§*+3
WYemx+b
6 | e
sloe W _ inf~
IS 22 2 s
e 'y
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5. A rcscarcher sclected a random
sample of 25 diffcrent brands of

bottled water and mcasurcd the

corrcsponding PH. He found out that
thc mecan PH of the samplc was 7.3

with an associatcd margin of crror of

0.25. Which of the following 1s the
best interpretation of the rescarcher’s

findings?

}( Most watcr bottles in the market
have a PH between 7.05 and 7.55

. All water bottles in the market
have a PH between 7.05 and 7.55

C. Any PH between 7.05 and 7.55 18
a plausiblc valuc for thc mcan PH

of the water bottles in the sam}zlc

Any PH betwceen 7.05 and 7.55 18
a plausible valuc for thec mcan PH

of the water bottles 1 the market

\

6. If h(x) =-x"3x-2 and k(x) =(-2x-5,
what 1s thc valuc of h(k(;2))?

41
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7. The graph above depicts a function
f(x). How many solutions docs the
cquation@= 0 admit?

h @
&)
D.

S LN

8. Which of the following angles have

the same valuc 0 3277

‘n’l
“
o
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A. Sin(-32°) agrlb=% ¢« 57a- Gi b

B. Sin 58°
C. Cos (-32°)
@ Cos 58&°

G\g ( 9o-232)
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The table below summarizes the grades out
of 10 obtaincd by 4 players in a competition
over a total of 5 rounds.

Diego | Mark | Iyler | Toni

Round 1 | 7 3 3
Round 2 5 10 7 4
Round 3 8 9 0 EE 2
Round 4 9 > |\dw! 0
4
8

Round 5 8 8 7
Standard | o5 | 55 | (075 2.28
deviation

11. The winner 1s the player with the
highest average. Who won the

competition?

9. Knowing that lincs (xy) and (rs) arc
parallcl, what 1s thc typc of trianglc

ABM? (Figurc 18 not drawn to scalc)

A. Scalenc

A. Dicgo
[sosccles (B, Toni
C. Equilatcral
D. Right isosccles D. Mark

10. A rcntal car company charges its

clients by thc number of days d the 12. Which playcr was the most consistent

car is rented. If the bill b of a client is n terms of his grades?
orven by the cquation b = 5d+20. A. Mark
what is thc best interpretation of the B. Dicgo
term 3? C. Toni
A. Thc rental cost of the car per day D. Tyler
B. Thc fixcd cost of renting a car, no
matter how many days it 1s rented
g._ The average number of days the
car 1s rented 13. What 1s the resulting coefficient of x
D. The feesof renting a car for 7 days when(-2x4 3)is multiplicd by (-3x-27)
A. -9 v il e
= b 2 XD (-3x-2)
SR s \— 5 ( X &?/
\ W _ L. D
5\ o/e in oA D. 6 " e
Avarens 540/t ™
rate ot or=a @X
) L
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—6x°% 4+ 5x + 2

Zx 11
14. Which of the following is cquivalent 15.If m and k arc positive numbers,
to the above cxpression?  _3(2) +4—_L which of the following cxpressions 18
2 A% ) : 12, 4\=
@ -3x +4 — — & : cquivalent to (16k™m™*)+ ?
X+
G S g
B. —3x +4 +— - Sl - X, 4k*m 5 e
2x+1 E 3 /‘( n
2 B, 2k \ =1
—3x — 2 Z, [

o’ > B S ¢s 4k *m 3
C‘(‘?”Hixﬂ St D) 2k*m e po\%Q )
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